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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt all questions.

3. All questions carry equal marks.

4. Each question has an internal Choice.

5. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1.

3.

(a) Write a short note on Indirect Taxes? Explain the types of Indirect Taxes in
India? (8)

(b) Explain the purpose for levying taxes on different sections 6fthe society. (7)
() srcas T W Hlere ol o ? wa A sme R TR @ 96 A quae ?
(@) T & A Tl | e e o SR W S

OR

(a) Explain different taxes levied by the Central Government. (8)

(b) What is the administrative set up of Excise and Custom Departments of
Indian Government? @)

(F) &= WHR T 9T W1 9 fGafmr & Y = w1

(W) 9RG WHR & IAE Toh VF G Toh 49N o1 ymafes o o 27

(a) What do you understand by ‘Input tax credit’? (8)
(b) Explain the provisions regarding registration procedure of VAT. (7
() ‘M W AE A 9w RN 7

(@) dT & doliaww N i D dEy X waue @ s w3

OR
(a) How VAT is computed in case of ‘works contract’? (8)
(b) Explain the method of calculating VAT amount in India. (7)

(F) ‘=@ sEa’ A Rufd ¥ A2 ) o Ffre wer =5 w27

(@) swra ¥ A i o H N OE A R D g5y A TwEm

(a) What do you understand by ‘Compounding Schemes’? Explain in detail.

(8)
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(b) Calculate service tax liability in the following two case—

(a) Where value of taxable service provided during 2015-16 is Rs.
14,90,000; and

(b) Where value of taxable service provided during 2015-16 is Rs.
99,00,000. (7

() ‘difier Aemet’ ¥ = T 27 fowr 4 e W
(@) FrafoRaa @ yeon § dar oY R A AT F
(i) W&l 2015-16 & IR Yed W ARG AT H A 14,90,000 T 2; A
(i) el 2015-16 B BT e & AT I T FF 99,00,000 T 2
OR
(2) Explain any four declared services? (8)

(b) P Limited of Mumbai (having diversified business) has provided the following
servises during 2015-16, whose values are listed below. Compute service
tax liability:

Services provided o a company located in Dubai in Rs. 6,00,000

relation to organisation of a festival celebration in Dubai

Services provided to a company located in Jammu in Rs.5,00,000

relation to fashion show in Jammu

Services provided to a company located in Delhi in Rs.4,00,000

relation to fashion show in Jammu

Services of allowing downloading of digital content from } . Rs.10,00,000
its website (out of this Rs. 2,00,000 was provided to

recipients out of India)

(7

PTO.
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() foo=el 4 =fSa Jarel & dau & qwag?

(@) 4= = G fafics (e Rftuart =R 2) 3 2015 -16 @ <o FefaiRag Ao
mwwi%,ﬁ#w%@w%mw%@mwﬁﬁaﬁmﬁ; :

T A I WIRE D A D gau ¥ g8 ¥ g w00 A 6,00,000 %
IIARI HS AT

W A B W D ERg A o X Rad wF T STem S Q4 5,00,000 %

T R DI W D Gay A R ¥ R R A Syem wE A 4,00,000 ®

ot s ¥ Rfes arml seeeir w1 o a3 9 Ja 10,00,000 &
(S84 ¥ 2,00,000 FHAT WRA ¥ AR F Wewe B far W D)

4. (a) Explain different types of penalties given under service tax laws? (8)
(b) Discuss the taxability of following services provided during 2015-16.

1. A process amounting to manufacture of goods (excise duty is applicable

@8% but the manufacturer forgot to charge it).

2. Job work on which excise duty in payable by the principle manufacturer
(however, the principal manufacturer has not paid any excise duty to

the Government till date).

3. Job work on which excise duty is not payable because there is no

‘manufacture’ involved in it.

4. A process amounting to manufacturer of goods (excise duty is reduced

to zero by the Government).
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5. A process amounting to manufacture of liquor for human consumption
in Maharashtra (excise duty is leviable but Maharashtra Government

has not charged any excise duty).

6. A private company engaged in the business of selling spaces for
advertisements on bill boards near Delhi and Mumbai airport. It

collected Rs. 80,00,000 for the half year ended March 31, 2016.

7. Sale of time for broadcasting on FM 92.7. 7N

() A = FA & JAFE Ry W R vER @ e genl @ ey X W
(@) 2015-16 B R ITaM TS T FrARRad I 6 F JqA W T R

1 TS & fafEior < afdr FuiRa w@ Tl wfear (ISe Ion 8% ot w A
@ 2, dfde e 5@ wRka wen s W ?))

2. T 7% o R I Yoo 7@, ol g0 37 8 (s, e fetar = st

TH WHER H fFa N I gow & wEE 8 & 2))

3. Sl 9% 5@ W I Iow o 78 ¢ o i s Rt i efefaa
B

4. TEg3 = fafeian 9 ofd fFeiRa F acl wien (R a7 Iae gew 1

qE A o e m 2))

5 WERE, # AFE I & forg e = oo s A ofdr FuiRa «@ et
R (ITE ek TR W ARF B, AR BRI WER S I IR
wiRa & farar 2))

PTO.
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| 6. ficelt 3t Wad warE g2 & Freve faw 9 R fammml & oo Rea o 3=
% AR | o G el Sa T8 31 W 2016 1 @G gP Y AW @
fow 80,00,000 T Tl farar =mi

7. THRUH 92.7 W YERW & forw qwa =1 g

OR

(a) Explain rule 3 of Point of Taxation Rules. 2011 [General Rule] with the help

of an example. (8)
(b) How value of taxable service is determined? (7
(F) e F wEE ¥ wauE &g - 20n (T ) @ fAaw s @ e A
QI

(@) 9= A A o A e wwr FaiRa e s 27

5. (a) Explain rule 6 of Place of Provision of Service Rules, 2012 [Services related

to events] with the help of an example. (8)

(b) During the financial year 2014-15, value of taxable service provided by Q
was Rs. 25,00,000 and value of non-taxable service provided was Rs.
16,00,000. During the financial year 2015-16, he has provided the taxable
services of Rs. 9,50,000 and non-taxable services of Rs. 4,90,000. What
shall be his service tax liability during 2015-16? (7

(%) I A TEEA A A T WU H A G, 2012 (FdFA QA wEA W),
& w6 & wsu ¥ aw=w
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(@) fa=rad 2014 - 15 & IR, Y GRT ITARI S T K AT A1 A4 25,00,000
T AN ITA” HUE TE W K ANG a1 A A6 16,00,000 &9 om fo ad
2015-16 & TR I&T 9,50,000 TA & &R Y AW AR 4,90,000 T &
- AN G IqeTe] TS A1 9 2015 - 16 D AT IGS a1 &K IASK R
B ?

OR
(a) Explain the administrative mechanism of Service Tax. 8)

{b) Find out service tax payable by X for the half-year ending March 31, 2016
from the given below information.

Particulars Amounts (Rs.)
Rent of residentail building 1 (given to Y, a salaried 15,00,000
employee)

Rent of residential building 2 (given to a bank for residence 22,00,000

of its branch manager)

Rent of vacant plot of land 3 (given to a manufacturing 6,00,000
company)

Rent of vacant plot of land 4 (given for agriculture purposes) 3,50,000
Rent of residential building 5 (given to a company for 4,00,000

residence of its employees)

(7)
(F) qa1 A WA e TR

PTO.
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(@) = @ T = @ 31 9N, 2016 B G B 0 99 D 0 gy gR 29 A4 w9

qar gy

farazor ufar (%)
AR a1 1 F fEw (a, ot W @ R ) 15,00,000
A wam & e 2 (FF @ T veuw @ fam @ R 22,00,000
9 = e )
i 3 & @t sEe & e (fafsio st @ e ) 6,00,000
i 4 & @l sEs o e (v e @ e @ ) 3,50,000
ARG e 5 @ R (e & waial & Fam @ fog 4,00,000
wo &l fear )

(200)
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